Unit 3 Life on Earth        
          Topic 2 Energy In Ecosystems
                                   National 5

Homework 3
1. The diagram below shows part of the nitrogen cycle.
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(a)
Use letters from the diagram to complete the following table about some of the events of the nitrogen cycle.
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(b)
Explain why event A can take place in some plants such as clover, peas and beans, but 
not in others.
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(c) 
Name compound X.
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2. When a plant or animal dies, decay takes place.

Choose words from the box below to complete the following sentences about decay.

You may use each word once, more than once or not at all.

soil 
animals 
nutrients

plants 
protein 
micro-organisms

Decay is carried out by__________.

This process releases____________which can be absorbed by_____________
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3. The diagram below represents part of the nitrogen cycle.
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(a)(i)
Use letters from the diagram to identify the following.
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Each letter may be used once, more than once or not at all.
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Decay of dead material

Nitrification

Nitrogen fixing 





 (ii)
Which type of organism is responsible for process D?
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(b)
In an investigation, wild rabbits were found to eat an average of 600g of grass per 
day. This grass contains 450 g of water. The dry weight of the grass contains 20% protein.

Calculate how much protein a rabbit eats per day.

Space for calculation

________g










PS1
�








